Pythagorean problems in 2-dimensions.
Drawings are NOT to scale.

1. Find the length of the diagonal of an oblong measuring 5.7 cm by 17.6 cm.
2. Arectangle measures 27 cm by 34 cm. What is the length of its diagonal?

3. The diagonal of a rectangle is 6.7 cm long, and one edge measures 2.3 cm.
What is the other edge-length of the rectangle?

4. What s the length of the diagonal of a square whose edge-length is 9.6 cm?
5. Find the length of the edge of a square whose diagonal measures 96 mm

6. Anisosceles triangle has base edge of length 70 mm.
Its perpendicular height is 110 mm.
Calculate the length of one of its other edges.

7. Anisosceles triangle has a base length of 13.8 cm.
Its other edge length is 21.4 cm.
What is its perpendicular height?

8. Aladder is 7 metres long. It leans against a wall with the foot
of the ladder 2 metres out from the bottom of the wall.
How far up the wall does the ladder reach?

9. Inthe previous question, if the foot of the ladder is moved another
2 metres away from the wall, by how much will the top slide down the wall?

10. A straightroad 8 miles long runs from A to B.
Another straight road goes from B to C and is 3.5 miles long.
The angle between these two roads is a right angle.
It is proposed to build a new straight road from A to C.
What distance would be saved on the journey from A to C?

11. A traditional 5-bar gate is 3.5 metres wide.
The vertical distance between the horizontal bars is 0.5 metres.
What is the length of the diagonal strut?

12. A pattern is made by drawing a large square, then marking the
middle-point of each edge and joining them to make another square.
This is repeated on each square in turn until they become so small
it is impossible to draw them.

In one case the 1st square has an edge-length of 14 cm.

What is the edge-length of the 2nd square?

And the 3rd?

How many squares must be drawn until one has an edge less than 2 cm?
By looking at the sequence of edge-lengths,

can you see a simple relationship between them?

If so, then use that to determine the size of the 10th square to be drawn.

© CIMT; University of Exeter 2000 [trolPT:10}

T/6




Lr= 87 174
= 3‘{’2=25 /
L= 13.3 /

) oo = 27% 347
1385 Y
ds43-%um (dp)/
L 6T = >f+2~gl
x T =296
x = 63 o C(c/'p) /

t.d* 294"
< 134.32 7
d = 13-6,(ldp) ¥
S = 2/(°
(t a3
Le 6 T mm ()

-2
, %= he'+35

« 13325
| : W)
xx It5- ¥ mm U"f’

7o 2pkts (A% ko

}\2: 410.3% /

K 20-30n (¥
71: 124‘22

*. 43
T,

x = 0 Tm (0

2 2
RPN TR
¥

97233
g 5Tn /
£-7-S7 = ,m

| o kggoe - 11327 2097
. eftS 0. p.ou437s '
x= 2x 0-4378%
2 0-tem (Vo) /




